N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

g g g g
8 g 8 8
= © @ 10° °
g g 10 g
......... g
°
10%
10k
o
3
24 [0 T 17
0890 -15 -10 -5 0950 -15 -10 -5 5 10 15 20 -15-10 -5 0 5 10 15 20 20 -i5-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
2] 1%} 1%} (%]
4 x < e, x
Q Q Q Q
g g 8 - g
B gy 2 F
E 8 g
E
°
9 v ) ) ° i [ 2
£ i Il || e :
e : glialy < Rl I:u;z Al =
ill‘llllillll IR |i|E i} ML ||
9% 20 -0 0 10 20 30 930 -1 0930 20 -10 0 10 30 30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


